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|R2.1.21 15 |Emsmirsme ©7,207| 50| 3,603 0 0 0 0 0 0 o| 3,603 0 0
!sz.zlf 16 [HYyoe (1284) 17,218] 50| s 609 8. 600 0 0 0 0 0 0 0 0 0
R2.1.21[ 17 [RESEBWBMAS VYU At (12A%) 20.801| 25| 5,200 5. 200 0 0 0 0 0 0 0 0 0
R2.1.21| 18 |BEFEHMAA Y YA (12A%) 2.261| 25  ses|  ses 0 0 0 0 0 0 0 0 oi
R2.1.22| 19 |BEFBEA 10,404] 50| 5. 202 0 0 0 0 0 0 o| 5202 0 o|




(R 4)

% i & ¥
[BEREXEH]
4SM2HE 1 8% [N 3 & #)
(g4 ; @)
ﬁ“ﬂ | ﬁﬁgi’i HEAEE (FLONR)
#AE | B> BHMLENE - B wAg | EwEm e —
E o | T |wmmun| wen | cmn (cecer| ZTE0 | wamk oamak| SHmk | Smn | A4R
| ARSI PR 4,950 s50] 2,475} 2475 0 0 0 0 0 0 0 0 0
] _
|R2.1.27, 21 }%ﬁﬁ%ﬁ{t_ 10,3331 50| 5. 166 0 0 0 0 0 0 0 ol 5. 166 0
BE 587, 945 535, 818 278,902] 73.383 0 0 0 0 of 11,403] 37.490] 35, 174] 121, 362
Rit 3,242, 128|5, 425, 886 3.521,030|1, 461,327 2,775 278,100] 330, 724 0 0| 52,881 231,683 186, 941| 976, 599
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(BHERER]
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ﬁg ( . i I fEIEE (RHOAR)
£A8 | gw REMBRE - R WA | Xt it .

s (%) HERAR] TR | B8 (mesur| S0 leuemecuman| S| 58 | A4
R2.1.27| 1 |BHEHREIEA (Bi) 1.364) 50| 682 0 0 0 0 0 0 0 0 682 0
R2.1.31) 2 %W 10,021 5o| 5,010 0 0 0 0 0 0 0 0] 5010 0
R2.2.2 3 |[HvuUst 7,154 50!' 3,577 3.577 0 0 0 0 0 0 0 0 0
R2.2.5| 4 |EBHRE §0,000| 50} 25,000 of 0 0 0 0 0 0| 25,000 0 0
R2.2.5| 5 [REBAFRETR 1,431| 50 715 0 0 0 0 0 0 0 of 715 0
R2.2.5| 6 |BHBRREA 550 50f . 275 0 0 0 0 0 0 0 0 275 0
R2.2.10{ 7 [WIFIFIFES 4,821] 50| 2.410 0 0 0 0 0 0 0 of 2410 0
R2.2.10 8 |4fifAfe 3.003| 100] 3,093 0 0 0 0 0 0| 3098 0 0 0
[R2.2.10] - |&iR&YAE (1A% 278, 902 0 0 0 0 0 0 0 0 0 0 0
|R2.2.12/ 9 |BHERRIFHEA 440 50f 220 0 0 0 0 0 0 0 0 220 of
IR2.2.1¢/10 AR 8,200 50| 4.145] 4,145 0 0 0 0 0 0 0 0 0!
|R2.2.1¢,11 SDG s lmaSME 5,000] 100 5, aoo} 0| 5,000 0 0 0 0 0 0 0 of
|R2.2.11 12 [ETCRIMAE % 32,050 100] 32,050f 32,050 0 0 0 0 0 0 0 0 0
|R2.2.11 13 |BEEy—2H 69, 009 5o| 34,504] 34,504 0 0 0 0 0 0 0 0 0
IR2.2.17_, 14 |EFERI—E—hy 7 660 5o| 330 0 0 0 0 0 0 0 0 330 0
|R2-2-1l 15 |REEBRBBARS (1A 190,000 50| 95, 000 0 0 0 0 0 0 0 0 of 95,000
|R2.2.11 16 [EHFERBARS (1AH) 46,550| 50| 23,275 0 0 0 0 0 0 0 0 of 23275
|R2.2. 190 17 [EHHELR 8,880 50| 4,440 0 0 0 0 0 0 of 4.440 0 0
IR2.2.29, 18 |RERI—E—Hv 7 3,300 50| 1,650 0 0 0 0 0 0 0 of 1,650 0
|R2. 2. 241 19 P 3,565| 25 891 0 0 0 0 0 0 0 0 891 of
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[BEREER]
THI2E 2734 (R &% & @]
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e xhs HREE (FAORR)
FAB | g BEMERNE - 8 WA | ZHEE RN | —

S (%) wETRR| FHER | BB |LRERR| Foon |@Hemsk| REBAR| EETR| =58 | AHE
R2.2.26| 20 |BEHBER 8,572 50 4,286 0 0 0 0 0 0 0 of 4,286 0
R2.2.26| 21 |HV Yk (1A 15,991 sof 7,005] 7,095 0 0 0 0 0 0 0 0 0
R2.2.26| 22 |BeBEBMEBIMAN VYLK (1AH) 22,943 25| 5738 5,735 0 0 0 0 0 -0 0 0 0
R2.2.26| 23 |®BHBEMAS VY VR (1A% 2,321 25| 581 581 0 0 0 0 0 0 0 0 0
R2.2.26| 24 |EHEAKER 2,750{ 50| 1,375 0 0 0 0 0 0 0 of 1,375 0
R2.2.26] 25 |REMFET 1,140 50| 570 0 0 0 0 0 0 0 of 570 0
ke.2.27} 26 [sem | GGG 8,982 50| 4. 401 0 0 0 0 0 of o of 4491 0

Bt ' 278, 902] 508, 883 267,300] 88,587] 5,000 0 0 0 ol 3003 20 440] 22 905 118,275
Bt 3.521,03015, 934, 769 3.788.330]1,548,914|  7,775| 278,100| 330,724 Of 55,974| 261, 123] 209, 846(t, 094, 874
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#AR ($zm= RGNS - ik WAM | me BEZu% -

&5 ' %) BEDRR| FER | 2MR | meneR| ZOOE | wueme|aeman| ssaR | sEx | Asr
R2.3.2| 1 |#amiz 10,013 60| 5,006 0 0 0 0 0 0 0 of 5. 006 0
R2.3.4| 2 |BIHZAHMIEH 240 50} 120 0 0 ol o 0 0 of 120 0 o
R2.3.10| 3 [WIFIREHS 4.821| sof 2410 0 0 0 0 0 0 0 of 2410 0|
R2.3.10| - [@REYAE 2B 267, 300 0 0 0 0 0 0 0 0 0 0 ol
R2.3.11| 4 |wEdee 3,003 100] 3. 093 0 0 0 0 0 o| 3,093 0 0 0
R23.13| 5 |[REAERTHR 2,401 50| 1,200 0 0 0 0 of o 0 ol 1,200 0
R2.3.13| 6 |BEF ALY —F— 506| s0f 253 0 0 0 0 0 0 0 of 253 0
R2.3.13| 7 |MIBEBHBRERS QAN 190, 000 50] 95, 00| 0 0 0 0 0 0 0 0 o| 95 000
R2.3.13| 8 |BBFEMMERS QHS) 46,5500 50| 23,275 0 0 0 0 0 0 0 0 of 23,275
R2.3.16| 9 |ETFkEHS 7,370 50| s8] o 0 0 0 of 0 0] 3,685 0 0
R2.3.17| 10 [ETCRIFMS 24, 480 mol 24, 480] 24,480 0 0 0 0 of - o 0 0 0
R2.3.17| 11 |ABEY—2H 60,000 50| 34,504] 34,504 0 0 0 0 0 0 0 0 oi
R2.3.18| 12 |EHmB&L | s.501] s0| 4 250 0 0 0 0 0 0 o| 4 250 0 ol
R2.3.23| 13 |BEHFRE 50,000] 50| 25,000 0 0 0 0 0 0 of 25.000 0 0
R2.3.24| 14 |EBAHEER - 8,792 50| 4.39 0 0 0 0 0 0 0 0| 4, 39 0
R2.3.24| 15 |2 E—# h—it 19,250 50| 9. 625 0 0 0 0 0 0 0 o| 9625 0
R2.3.24| 16 |BEAATM ' 7,775| 50| 3, 887 0 0 0 0 0 0 o| 3887 0 0
R2.3.24| 17 [HV 1 ok @A) 6.766| 50| 3,383] 3383 o 0 0 0 0 0 0 0 0
[R2.3.24] 18 |mmmmmBmAS Y Uk 2B 16,204] 25| 4.073] 4,073 0 0 0 of 0 0 0 0 0
132.3.24 19 |SHTEEHMAS Y ) A QAR 2,261 ‘25|  s565] 565 0 0 of o 0 0 of o 0
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[BERER]
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ST ﬁﬁﬂé HERRE (FEHOMER)
£E0 |smm BHMLAE - B WA | HwE gﬁgng
5| o) BERRR| WHR | smw |cecwek| TACE |waok| RumAk] BTk | SR | AMR
R2.3.27) 20. ﬁ%@%ﬂt_ 9,133 50| 4,566 0| 0 0 0 of 0 0 0| 4, 566 0
R2.4.10f - |&ik&LUASE 3AS) 176, 670 0 0 0 0 0 0 0 0_ 0 0 0
Bt 443, 970 487, 255 952.7711] 67,005 0 0 0 o| 3,003 36 942] 27, 456| 118 275
4 3, 965, 000 6, 422, 024 4,041, 101J1,616,919] 7, 775| 278, 100] 330, 724 0| 59,067 298, 065] 237.302|1,213,149




